Seat No.

1.

Enrolment No.:

Gujarat Technological University
Diploma Engineering C to D Bridge Course Examination

Subject Code: C320201
Subject Name: THERMODYNAMIC & HYDRAULICS
Time: 10.30 AM TO 12.00PM

Instructions:
Attempt all questions.

Date:8-06-2017

Total Marks: 70

2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. | Question Text and Option. U#l el (Ascul.
Boiling water in a close pressure cooker is the example of,
1. A. | Open system B. Close system
C. | Isolated system D. None of the above
ol YoR 52 Ul Bsnd Wl Sloj GelsRWQ B,
q. AUt Rren B. | scllos @eent
C. | usAAs Ren D. | Qs uw 18l
For an isolated system, between system and surrounding,
2 A. | Only mass transfer is possible | B. Only energy transfer is possible
' Neither mass nor energy D.
C. | transfer is possible None of the above
WSANAZS RreH 12 RReH wal ARGl e
A | S5 HIM QISR AsA D, | g | 55 B glusR wsaA B.
2. ,
C. | Qs wal Wit alug2 asa | D | As ual o
ol
Following of which is not a system property,
3. A. | Pressure B. Temperature
C. | Density D. Heat
o(lAotl Hiell s youcll opaud o8l
3. |A | eaunl B. | ctusitet
C. | dotetl D- | Gwu
Following of which is not the unit of pressure,
4, A.| Newton*meter B. PSI
C.| BAR D. Atmosphere
o{lAotl Higl 520 €ollal ol AsH o2l
¥. | A | Jeater{le? B. | UlAaues
C. |z D. | arctiarul
Following of which is the example of extensive property,
5. A. | Pressure B. Volume
C. | Temperature D. | Specific Volume
W, | o{l Aot 1igll s20 A&l ojatud of GelgRal B.
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A

5€

C. | catunttet

D. | :0:l4ls se

Heat energy and work energy are,

6. A. | Point function B. Path Function
C. | Intensive property D. None of the above
Gudl Gl ual sl A ... 8.
S. e gos2lot Ul 59t
C. | &Ballet oq@uend D. | A5 ual <4l
The unit of Entropy is,
7. | A [ K B. [ J°K
C.| JKg*mol*°K D. | None of the above
AWalUl ol ASH ... 8.
9 [A [ K B. | J°K
C. | JKg*mol*°K D. | 3ls uel 8l
Mixture of ice and water is the example of,
8. A. | Close system B. Isolated system
C. | Heterogeneous system D. Open system
Rl W ¢ of BAQL A ..... of BELERAL B,
¢. |A | sAw Reu B. | augg@zs Rrent
C. | 8leAwellat Rren D. | 2uet Ren
According to Boyle’s law for perfect gas,
9. A | VaT B. Val/P
C.| VaP D. PaT
ASA oll A yoror wed aly W2
C. A [ VaT B. | Val/P
C. VaP D. PaT
The ratio of two specific heats (Cp and Cv) for air is equal to,
10. A.| 0.17 B. 141
C.| 014 D. 1.7
gal M2 A AAgls &le(Cp Aa Cv) oll IYRIHR GRIGR
0. TA ] 017 B. [ 141
C. 0.14 D. 1.7
If a heat engine achieves 100% thermal efficiency, it violates
11 Second law of
" | A. | thermodynamics B. | Zeroth law of thermodynamics
C. | First law of thermodynamics D. | All of the above
ol As gle Aol 100% adct A Ancll A A wilsad@Ms ot sal o{lan of
Gecuat 52 B.
q.
A adlstaettidlls ol ollgl Qad | B | snllstastidls ol got aun
C. | allstaottls dlyan Qant | D | As ual o8
The first law of thermodynamics is the law of
12. A. | Conservation of mass B. | Conservation of momentum
C. | Conservation of heat D. | Conservation of energy
arlsiaattlls dlyaud [[Qam A ... ol Qan 8.
.

A. Conservation of mass

B. Conservation of momentum

C. Conservation of heat

D. | Conservation of energy

A perpetual motion machine is
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A. | An inefficient machine B. | A thermodynamic machine
A hypothetical machine which
13. X
violates laws of
C. | thermodynamics D. | A non-thermodynamic machine
[ARcR oUld 2 A ... B.
A | As Agl{lie Hallet g | As wlsaeitills mellot
3. |G | As scuolls Hallet ® D. | Qs ollot arllsauotills Hallet
amllsAatils olt [[un of
Gecddatl 52 B
Kelvin plank statement and Clausius statement are related with,
14 A. | Zeroth law of thermodynamics | B. | First law of thermodynamics
' Second law of
C. | thermodynamics D. | Third law of thermodynamics
secllotiatis wal sAR{laU of clsa Aol WA Aoidld B.
y. | A | adlstaetdls ol 9ot Qan | B | andlstaetidls off yad @Qax
C. | anilstatottdlls ol ollost @ | P | anllstatettslls oti Alost (aun
1 atmospheric pressure is equal to,
15. | A. | 760 mm of Hg B. | zero mm of Hg
C. | 735.6 mm of Hg D. | None of the above
s cAlclelR0loll MRl HRLGR.....
WM. A ] 760 mm of Hg B. | zero mm of Hg
C. | 735.6 mm of Hg D. None of the above
An isentropic process on T-S diagram is represented by a
16. A. | Horizontal line B. | Vertical line
C. | Inclined line D. | Curved line
As AUSAAUs ylsal T-5 vugld ur ... ad ealdl asta.
1. A8 vl B. | Gell vt
C. | auall 2w D. | as duu
In isothermal process following of which remains constant,
17. A. | Temperature B. | Volume
C. | Pressure D. | Entropy
VRAN AlUHLet Yl H ol Aott Hidl SloL ApAN 28 B.
9. AlUHLet B. | s¢
C. | eaunl D. a2l
18 A fluid is said to be ideal, if it is
A. | Incompressible B. | Inviscous
C. | Viscous and incompressible D. | Inviscous and incompressible
As sAS o Aled sAR 58l As2A sAR A
< A. Incompressible B. Inviscous
C. Viscous and incompressible D. Inviscous and incompressible
Mercury does not wet the glass. This is due to the property
19. A. | Adhesion B. | Cohesion
C. | Surface tension D. | Viscosity
URLall sl QLU ol 5100 st ol el otedl.
e. A B
- | auells:el NN
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C.

D.

Y% dlil Reloucll
Property of a fluid by which its own molecules are attracted is called
20. A. | Adhesion B. | Cohesion
C. | Surface tension D. | Viscosity
SEAS oll sAL AR oll 510 Ulcllotl AR l us™A B.
0. | A | rualsRal B. | 2 ausal
C. |l yw D. | Rotouc
The property of fluid by virtue of which it offers resistance to shear is called
21. A. | Adhesion B. | cohesion
C. | Surface tension D. | viscosity
sAS oli sl ARUN ol 51201 2l AcRu Vel A2 B,
4. | A | ualsRa B. | 2 ausul
C. I yw dwl D. | Gotoul
Falling drops of water become spheres due to the property
22. A. | Adhesion B. | cohesion
C. | Surface tension D. | viscosity
(1A 2usq well sa oRiu ol NS wal B.
2. | A | ualsRa B. | 2ct ausul
C. | yw cwl D. | Ratoutct
A barometer is used to measure
23. A. | Very low pressure B. | Very high pressure
C. | Atmospheric pressure D. | Pressure diff. between two points
A2 9 Hual {2 Guaoll 8.
3. | A | ug Y ctumiet B | ug 1y clunet
C.o | alctarel o gougl D. | (g 20 A o0 g6l cdAstelcd
For pipe flow, laminar flow occurs for value of Reynolds number
24. | A. | Less than or equal to 2000 B. | In between 2000 and 4000
C. | Greater than 4000 D. | None of the above
ES SlolR ol sl Yot W WU Hi AHlolR $Al 1A B,
¥. | A | 000 ¥ Aell Ay 2000 ¥al ¥000 ofl oA
C. | ¥000 sl au® D. | Qs ual 18l
Pitot tube is used for measurement of
25. | A. | Flow B. | pressure
C. | velocity D. | discharge
Qa2 2yu................ HUal {2 duRld &
MU | A | yae B. | eoun
C. |aal D. | R
Bernoulli equation deals with the law of conservation of
26. A. | Energy B. | Mass
C. | Work D. | Momentum
wollcll of Yo Slotl A& A AsnAg B.
s. | A | God B.- |l en
C. | s D. | Qatuet
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Hydrometer is used to determine

217. A. | Density B. | Specific gravity of liquid
C. | Viscosity D. | None of the above
slegfgllleR 9 alssl sal duRla B.
0. |[A | deldll yaldl ol @2l ustcl
C. | Rt D. | A5 ual <4l
On volume basis air contains following parts of oxygen
28. A | 21 B. 23
C.| 25 D. 78
SE oll WUUR sl Hi 3ecll YHIRl Hi A sflowet sl B.
34 24 B. |23
C. 2y D 1ac
For reversible adiabatic process change in entropy is
29. A. | maximum B. minimum
C. | zero D. negative
Rarfllocd ASladls ysglaw e AU 1 A ¥R
e, | A | HedH B. | o3jotrint
Measurement of temperature is based on
30. | A. | Zeroth law thermodynamics B. | first law thermodynamics
C. | Joule’s law D. | second law thermodynamics
AlUHLel of HiUal Aol Aulld 8.
30. | A | alstaeidlls ol 9ot Ran arllstaoitlls ol yar [[Qan
C. lxcd ol Ran D. | alstatettslls ot ollost @t
The constant volume cycle is called
31. | A. | Carnotcycle B. | Otto cycle
C. | Diesel cycle D. | Joule cycle
AN SE ARUSA .....0.
34. slotle AASH Al AASEAH
C. | Slovct a2iset D | oget auatset
Rankine cycle consists of
32. A. | Four processes B. | Five processes
C. | three processes D. | six processes
Retslefel ASA ... Yglal ol AHLA B.
3. | A R ysla B. | uiaysla
C. | o uslan D. | ¢ ysla
The thermal efficiency of a Carnot cycle depends on
33. A. | Design of engine B. | Size of engine
C. | Type of fuel D. | Temperature of source and sink
solle AlAsA ol Gullat 512l aHdl A AU B
33. | A | Aol ofl SlneSat B. | Aot ot 282
C. | aladul ol ysiz D. | A wa Rls oll dAtustet
34 Specific heat of water is
| A ] 001 | B. | 01
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C.|1 | D. | 0.97
well ol @ellre dotdt ....... .
3%. |A |0.04 0.4
Cla D. 1o.co
Second law of thermodynamics defines
35. | A. | enthalpy B. | pressure
C. | volume D. | entropy
lstaaitlls oll ollosl [[an g otssl 52 8.
3w, | A | Aaedl B. | ol
C. |se D. g@lﬂ
Change of internal energy is proportional to the change of temperature is
36. A. | Boyle’s law B. Joule’s law
C. | Charles’s law D. None of the above
Wid3ls Gosl H AU $R51R AlUHLot oll AYHIRL Hi &
35, [A | clacdt ol Ran B. | et ol Qaunt
C.lael A Qan D. | A5 ual «18l
First law of thermodynamics deals with conservation of
37. | A. | mass Heat
C. | momentum Energy
Alstalett{ls ol yaH @Qan sloll ARl A Asndd B.
30. [A | eq B. | Gwu
C. | Qatuet D. | G
In a steady flow process
A. | The mass flow rate is constant | B. The work transfer rate is constant
38. -
The heat transfer rate is D.
C. | constant All of the above
AU yalsdylsa 1
3¢. |A el ydlg wAN @ D | B | 512l ol Yaus uAn 2@ B
C.o | Gut ol yalts A 1B D | P | GuUR ol sitt %
The work done in free expansion process is
39. | A. | minimum B. Maximum
C. | zero D. | positive
Y5l (A0l yslaw 1l ad st
3¢, [A | Yol HeTH
C. e D | ust
Petrol engine works on
40. A. | Constant pressure cycle B. Joule cycle
C. | Constant volume cycle D. | Rankine cycle
ValeAYet Hi Ud stal
¥0. [A | Add eogl WaAsA B. | oget aaset
C. Hdd 5&€ AAsSA 3I5leTel URASEH
41 A refrigeration system works on

A. | second law thermodynamics

| B. | Zeroth law thermodynamics
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C. | first law thermodynamics

| D. | None of the above

RglaR2et Ysglaul M Ud stal

¥a. | A | adlsiastidls ol ollogl Qan | B | adllstatettills ol ollosl Qaun
C. | aallstatottsls Alyun@Ran NERVERET
For ideal gas, in throttling process the
42. | A. | Volume remains constant B. | Temperature remains constant
C. | Pressure remains constant D. | All of the above
ulel aty] decllor yslauni
¥2. | A | sE AUUN 3 AlUHlel HUUN
C. | gougl wum 2@ D. | GuR ol %
Enthalpy is equal to
43. | A. | U+PV B. U-PV
C. | S+PV D. | S-PV
Aacdl W
¥3. A, [U+pV B. [U-PV
C. | S+PV D. | S-PV
The unit of energy in Sl system is
44, A | J B. Jm
C.| W D. | Jm
Gosl ol AU WE AsH
8. (A [ B. [ Jm
C. W D. J/im
One watt is equal to
45 |_A. | 1N/min B. | 10N/s
C.| 1Nm/s D. 100N/s
As dle =
¥U. | A 1 N/min B. 10 N/s
Co 1 1Nm/s D- 1 100Nys
Carnot cycle is a following cycle
46. A. | Quasi static B. Semi reversible
C. | reversible D. irreversible
solle ALRASA A..... AASA D
¥s. | A | say ®éls Al Rar¥llotet
C. | RerRuct D. | Rl
Centrifugal pump is an example of
47. | A. | Isolated system B. Steady flow system
C. | Closed system D. None of the above
Al ol Wiy ... of GELERWL B
¥. wSAA s YLl Add sl veucl
C. | e yaucl D. | A5 ual «dl
Gases have
48. A. | Two values of specific heat B. | One value of specific heat
C. | Three values of specific heat D. | Novalue
¥C. | dly MR
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AT Qelle Gul ol A BHct

@Qalle GwL o{l As (B

C. |@alle o ofl oot B | P | As ual o8
The general gas equation is
49. | A. | Pv=mrt B. | Pv=Rt"
C.| Pv"=c D. | Pv=(rt)"
WHIA Al YA =
¥¢. A, [ Pv=mrt B. | Pv=Rt"
C. |Pv'=c D. Pv=(rt)"
Surface tension has the units of
50. A. | N/m2 B. | N/m
C.| N D. | N.m
Yo gl ol AsH
HO. [A. [ N/m2 B. [ N/m
C. N D. N.m
Kinematic viscosity is dependent upon
51. | A. | pressure B. | Distance
C. | flow D. | Density
slFANEls (QSIA1El Aol 2l
ug, [A | eaual B. | 2id?
C. lyas D. | ot
The continuity equation is connected with
52. A. | Conversion of mass B. | Steady flow
C. | Pipe flow D. | Unsteady flow
§3loxydl Y ... A AsnAct B
uR. | A | ea ol 3uidR B | At yeus
Clweu ol yae AAAAY LS
One horse power is equal to
53. A. | 102 watts B. | 75 watts
C. | 550 watts D. | 745 watts
As A waR =
3. A | 102 watts B. [ 75 watts
C. 550 watts D. 745 watts
Manometer is used for measurement of
54. | A. | pressure B. | flow
C. | temperature D. | velocity
Nollle? g HuaGuAl 8
wy. | A | eounl yae
Co | druntet D. | Qo
1 litre=
55. A. | lcc B. | 10cc
C. | 100cc D. | 1000 cc
1 leR =
W TA T 1cc B. | 10cc
C. 100 cc D. 1000 cc
Rotameter is used to measure
56. | A. | pressure distance
C. | flow density
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AatHle? 9 Hual Guadll &
us. | A | eoual B. 3R
Clyae toldll
10. Solid and liquid have
57. | A. | One value of specific heat B. | Two value of specific heat
C. | No value of specific heat D. | Non of above
ot ol yallgl 1
. QR Gul of As Yeu QR Gl ol A Ycu
QR Guil of Yeat ol | D | As uel <8l
The term N.T.P. stands for
A. | Nominal temperature and B. | Normal temperature and pressure
58. pressure
C. | Natural temperature and D. | Normal thermodynamic practice
pressure
N.T.P.oj Y3 ol
uc. AHloAA AlUHLet Hal EGLRL AlA AluHlel Wal vl
C. | Qe dludiot wal gstal | P | et snsilstatetalls usglau
A sudden fall in the barometer reading is a sign of approaching
59. | A. | Fine weather. B. | Rain.
C. | Storm. D. | Heat wave.
ARAMleR i Aseu Al dalsly el B
ue. |[A | U3 dldlary B. | araue
Co | ataulg oM Ad
37. Diesel engine works on.
60. | A. | Otto cycle B. | Diesel cycle
C. | Carnot cycle D. | None of above
Slsct Aot Aol AUl B
so. [A | uasd Slyet AAsEA
C. | sieile wasc D. | Qs ua 18l
41. Heat engine is
61. | A. | Convert heat into work B. | Convert heat into motion
C. | Convert work into heat D. | None of above
gle At
sqa. | A | GuL of 5Ll 1 UldR Gl of oA Hi UidR
C. | stadl of G i 3uicR D. | &g gl o8l
53. Density of water is maximum at
62. |A. | 0°C B. [0OK
C. |4°C D. |100°C
Yl ofl eotcdl sAR HeWH B
. [A_Jo°C B. [0K
C. |4°C D. |100°C
When a gas is heated , change takes place in
63. A. | Pressure B. | Volume
C. | Temperature D. | All of above
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w2 AU A ARH sRIHL RIS R

....... HL ¥R Al B,

s3. | A | eoul S€

C.o | dtuiet D. | Guz ol ot %
Piezometer is used for measurement of

64. | A. | Pressure B. | Temperature
C. | Flow D. | Velocity
Yl HleR 9 Huaw Guaoll 8

s¥. [A | eoua B. | ctustet
C.lyas D. | Qo
The viscosity of liquid is...... with increase in temperature

65. | A. | Decrease B. | increase
C. |BothAandB D. | None of above
Yalgl oll Raldtdl ciuHtel duce(l Al

su. | A w2 B. | a@
C. A wa B D. | Qs uw 8l
Which of the following is the unit of kinematic viscosity

66. | A. | Pascal B. | Stock
C. | Poise D. | none of above
sIFANELs (As1E] ol AsH

ss. | A | ursa ®ls
C. | Qg D. | A5 ual <4l
Entropy is constant in

67. | A. | Polytropic process B. | Isochoric process
C. | Isobaric process D. | Isentropic process
AWaUL.... Udd &

5. Qellalls yslau B. | agasidls uslau

wSA A s yslau wAls uslau

The relation between Cp and Cv is given as follows

68. | A. Cp-Cv =R B. Cp+Cv =R
C. Cp/Cv =R D. Cp-Cv =B
o{lAatl Uil Cpand Cv oll s Aol AA &

s¢. [A [ cp-Cv=R B. | Cp+Cv=R
C. | Cp/lCv=R D. | Cp-Cv=B
An adiabatic wall is one which

69. | A Prevents thermal interaction B. Permits thermal interaction
C. encourages thermal interaction | D. | discourages thermal interaction
ASlAAdls At 9 O

se. | A | Gullal uidslau mesd B. | Gwllal uictslau acu &
C. | eufla wictslau aa Gu{la wicslan wesia
Momentum is represented by

70. | A Mass*velocity B. Mass/velocity
C. Mass-velocity D. Mass+velocity

9O, | HldeH A.......
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£ xAL

g/ Aol

£M-AL

D. | eq+Qat
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